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 (uq¿ ,l=Kq 40) 
fldgi 

1 jk m%Yakh i|yd fhdað; W;a;r( 

1.1 (2) 

 9x + 4  = 3x + 34 
 6x  = 30 
 x  = 30/6 
             x            =  5  

(,l=Kq 03) 

1.2 (3) 

         A   mhsmamhg .; jk ld,h      =  ñks;a;=   180  

         B   mhsmamhg .; jk ld,h       =  ñks;a;=   180 ×
1

6
  = ñks;a;=   30 

 (,l=Kq 03) 
1.3      (1)      

  S = X(1 + r)n  X = 50 000,      r = 6% =0.06,      n = 10 
 
  S = 50 000 ×(1.06)10 

  S = 89,542 
 

         wehf.a .sKqfï we;s uq¿ uqo, re' 89"542 ls 
 (,l=Kq 03) 

1.4      (1) 
 C  – mrs.Klhla we;s    
 M – cx.u ÿrl:khla we;s  
 
 
 
 
  

   
 

cx.u ÿrl:khla we;s isiqfjl= f;dard .;af;a kï tu YsIHhdf.a ksjfia mrs.Klhla 

;sîfï iïNdú;djh  
140

350
 = 

2

5
 

 (,l=Kq 03) 

YS% ,xld .KldêlrK Ys,amSh wdh;kh 

wÈhr I úNd.h - 2021 cQ,s 

(102) jHdmdßl .Ks;h iy ixLHdkh 

fhdað; W;a;r 

 
A fldgi 

 

350 

420 

210 

70 210 140 

0 
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1.5      (2) 
1, 4, 5, 8, 10, 16, 18, 18, 19, 19, 19, 25  

uOHia:h   = 
𝑛+1

2
    jk moh 

= 
12+1

2
  jk moh 

= 6.5     jk moh 

= 
16+18

2
 jk moh 

uOHia:h  = 17 

 (,l=Kq 03) 

1.6 (3) 

 𝑃 =
𝑃1

𝑃0
× 100 

𝑃 =
10

12
× 100 = 83% 

 (,l=Kq 03) 
1.7      (4) 

𝑃(𝐴 ∩ 𝐵) = 𝑃(𝐴) + 𝑃(𝐵) − 𝑃(𝐴 ∪ 𝐵) 

𝑃(𝐴 ∩ 𝐵) = 0.30 + 0.50 − 0.70  

𝑃(𝐴 ∩ 𝐵) = 0.10 

𝑃(𝐴 ∩ 𝐵)′ = 1 − 𝑃(𝐴 ∩ 𝐵) 

𝑃(𝐴 ∩ 𝐵)′ = 1 − 0.1  

𝑃(𝐴 ∩ 𝐵)′ = 0.9 
                                                                      (,l=Kq 03) 

1.8     (3) 
                        X = 6000,   r = 0.075,   n = 8 

 

 

 
 

 

    𝐹𝑉 =  67,379    jvd;a ksjeros jákdlu jkafka fuhhs 

                        𝐹𝑉 ≈ 67,381   

 (,l=Kq 03) 
1.9     (1) 

iD;=j iD;=uh o¾Ylh Wmk;sh 
mqfrdal:kh l< 

úl=Kqï 

Q1 1.4 12,500         17,500 

Q2 1.2 12,000         14,400 

Q3 0.6 10,750           6,450 

Q4 0.8 9,600           7,680 

 

 (,l=Kq 03) 

 𝐹𝑉 =
𝑥(1+𝑟)⌊(1+𝑟)𝑛−1⌋

𝑟
  

 𝐹𝑉 =
6000×1.075×⌊1.0758−1⌋

0.075
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1.10    (2) 

𝑷𝑽 = 𝑿(𝟏 − (𝟏 + 𝒓)−𝒏)

𝒓
 

 

PV= 500,000, n = 3,  r = 0.075   
500,000 = 𝑋(1 − 1.08−3)

0.08
 

 

500,000 × 0.08

(1 − 1.08−4)
 

= 𝑥  

𝑥 = 194,017 jvd;a ksjeros jákdlu 
jkafka fuhhs 

𝒙 ≈ 𝟏𝟗𝟒, 𝟎𝟐𝟒  

(,l=Kq 03) 

1.11 
             A    (2) 
 B    (4) 
 C    (1) 
 D    (3) 

 (tllg ,l=Kq 01 ne.ska ,l=Kq 04) 

1.12       
1,170 × 100 = re.900/- 

130     
 (,l=Kq 02)  

1.13 

     𝑇𝑛  =  𝑎𝑟𝑛−1  a = 1, r = 3, n = 8 
     𝑇8  =  1 × 37  

     𝑇8  =  2,187 

 (,l=Kq 02) 
1.14 m%ldYh i;Hhs 

  (,l=Kq 01) 

1.15 m%ldYh wi;Hhs             

      (,l=Kq 01) 

(uq¿ ,l=Kq 40)  
 

 

 

 

 
A fldgfiys wjidkh 
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(uq¿ ,l=Kq 40) 
 

02 jk m%Yakh i|yd fhdað; W;a;r( 
mßÉfÊoh 01 - uQ,sl .Ks; ixl,am iy uQ,O¾u 

(a) 
01 jk l%uh 
    3 – 5x    ≤    −12 
    3 + 12    ≤     5x 
 15        ≤     5x 
 3          ≤     x      fyda     x ≥ 3 
02 jk l%uh 
    3 – 5x    ≤    −12 
                                       - 5x         ≤    −12 - 3 

               
−5𝑥

−5
       ≥   

−15

−5
 

      x     ≥    3 
                                                                                     (,l=Kq 02) 

mßÉfÊoh 01 - uQ,sl .Ks; ixl,am iy uQ,O¾u 
(b)        

2𝑎 + 5𝑏  =  13          1 

3𝑎 − 2𝑏   =  10          2 

1  x 2       4 𝑎 + 10b   = 26        3 

2  x 5       15 𝑎 – 10b = 50        4 

         4   -   3                 19 𝑎 = 50 +26 

                                           𝒂 = 𝟒 

        1         8 + 5b   = 13 

                           5b  =  5 

                             b  =  1 
 ^,l=Kq 04& 

mßÉfÊoh 04 -  o;a; bÈßm;a lsÍu iy úia;rd;aul ñkqï 

(c) 

 
^,l=Kq 04& 

^uq¿ ,l=Kq 10& 

ksIamdos;h 
tall 
.Kk 

fldaKh 

A 180 
180

   360
× 360 = 1800 

B 90 
90

360
× 360 = 900 

C 45 
45

360
× 360 = 450 

D 45 
45

360
× 360 = 450 

tl;=j 360 3600 

B fldgi   
 

180 

90 

45 

45 

 ksIamdos; úl=Kqï 

A B C D
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3 jk m%Yakh i|yd fhdað; W;a;r(  
mßÉfÊoh 03 - jHdmdr i|yd uQ,H yd fufyhqï ls%hdldÍ;aj ñkqï 

(a)  
TC = FC + VC 

TC = 200 - 60q - q
2
  

 
𝑇𝑅 = 𝑝 × 𝑞    p =40 – q 

𝑇𝑅 = (40 –  q) × q 

 

𝑻𝑹 = 𝟒𝟎𝐪 – 𝐪𝟐   
 (,l=Kq  04) 

(b)  
TP = TR – TC 

𝑇𝑃 = 40q – q2 − (200 −  60q −  q2) 

𝑻𝑷 = 𝟏𝟎𝟎𝐪 − 𝟐𝟎𝟎  
 (,l=Kq  02) 

(c) 
iu;=,s; wjia:dfõoS,              TR = TC 

    40q – q2 =   200 −  60q −  q2     
          100q =   200 
     q =   2 
 
iuÉfÊo tall m%udKh tall 2,000 ls¡ 
 
fyda 
0 osS 
  0      =  100q -200 
100q =  200 
       q =  2 

(,l=Kq  04) 
(uq¿ ,l=Kq 10)  

4 jk m%Yakh i|yd fhdað; W;a;r(  

mßÉfÊoh 05 - m%udKd;aul úp,H folla ixikaokh lsÍu 

(a)   
∑ X =64  ,   ∑ Y =59  ,   ∑ XY =552,   ∑ X2 =580,   n = 8                                              

x y X2 xy 
3 3 9 9 

6 2 12 36 

8 5 40 64 

5 7 35 25 

9 6 54 81 

10 9 90 100 

11 12 132 121 

12 15 180 144 

64 59 552 580 
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   b  =  
n ∑ XY −  ∑ X .∑ Y

(n ∑ X2 −  (∑ X)2)
 

      b  = 
(8 X 552) –(64 X 59)

(8 X 580) −(642)
 

    b  = 
4,416 – 3,776

4,640 −4,096
 

     b  =  
640

544
 

     b =  1.1765 

     

    a            =   𝑌̅ − 𝑏𝑋̅ 

     a            =   
59

8
− [1.1765 ×

64

8
] 

     a            =   7.375 – 1.176 × 8 

     a            =   -2.033 

   

  wvq;u j¾. m%;smdhk f¾Ldj 

      𝑌 = 𝑎 +  𝑏𝑥 

    𝒀 =  −𝟐. 𝟎𝟑𝟑 +  𝟏. 𝟏𝟕𝟔𝒙   

 (,l=Kq  07)  

(b)  
 

Y           = -2.033 + 1.176x 

8           = -2.033 + 1.176x 

1.176x = 8 + 2.033 

1.176x = 10.033 

 

X = 8.53 or x = 9 

 (,l=Kq  03)  

(uq¿ ,l=Kq 10)  
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5 jk m%Yakh i|yd fhdað; W;a;r( 

mßÉfÊoh 04 -  o;a; bÈßm;a lsÍu iy úia;rd;aul ñkqï 

 

fj,dj 𝒇 𝒙 x2 Fx2 𝒇𝒙 

10 – 19 25 14.5 210.25 5,256.25 362.50 

20 – 29 18 24.5 600.25 10,804.50 441 

30 - 39 30 34.5 1,190.25 35,707.50 1,035 

40 – 49 17 44.5 1,980.25 33,664.25 756.50 

50 – 59 6 54.5 2,970.25 17,821.50 327 

60 - 69 4 64.5 4,160.25 16,641.50 258 

 100  11,111.50 119,895 3,180 

 
(a) ud;h  
    ud;h mx;sh 30-39 fõ 

      L1 = 29.5, ∆1= 30 − 18 = 12 C = 10 

                          ∆2 = 30 − 17 = 13 

Mo 
 

= 
Li + [

∆1

∆1 + ∆2
] × C 

Mo 
= 

29.5 + [
12

12 + 13
] × 10 

Mo = 29.5 + 4.8 

Mo = 𝟑𝟒. 𝟑 
 (,l=Kq  03)  

(b)   
∑ f X = 3180 ∑ f X2 = 119 895   ∑ f =100 
 
   uOHkHh       =      ∑ fX 
                           ∑ f 
              =     3180 
                      100 
              =     31.80  

 (,l=Kq  03) 

(c) 
 

iïu; wm.ukh     = √
∑ 𝑓𝑥2

∑ 𝑓
−  [

∑ 𝑓𝑥

∑ 𝑓
]

2

        

iïu; wm.ukh     = √
119 895

100
−  [

3180

100
]

2

        

           =   13.70 

(,l=Kq  04) 
        (uq¿ ,l=Kq 10)  

 
B fldgfiys wjidkh 
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(uq¿ ,l=Kq  20) 

6 jk m%Yakh i|yd fhdað; W;a;r( 

mßÉfþoh 2 - jHdmdr i|yd uQ,H .Ks;h 

(A)  
(a) 

S = x(1 + ar)n  X = 300,000,    r = 8% =0.08,    t = 3 
 
  S = 300,000 (1 + 3 × 0.08) 

  S = 300,000 + 72,000 
                          S = 372,000 

(,l=Kq  02) 

(b)  
𝑆 = 𝑋(1 + 𝑟)𝑛  X = 300,000,  r = 12/4% =0.03, n = 3×4 =12 

 
 𝑆 = 300 000 × (1 + 0.03)12 
 S = 300,000 × 1.426 
             S = 427,800 

      (,l=Kq  02) 

mßÉfþoh 2 - jHdmdr i|yd uQ,H .Ks;h 

(B) 
(a) 

 0 1 2 3 
wdfhdackh (500,000)    

Y=oaO uqo,a m%jdyh - 250,000 375,000 50,000 

 (500,000) 250,000 375,000 50,000 

10% 1 0.909 0.826 0.751 

DCF (500,000) 227,250 309,750 37,550 

Y=oaO j¾;udk w.h 

74,550 
    

(,l=Kq  04) 

(b)  
 jHdmD;sh      Y=oaO j¾;udk w.h 
 

  A           74,550 

  B           80,400 

 

jHdmD;s B  ys  Y=oaO j¾;udk w.h  jHdmD;s A  ys  Y=oaO j¾;udk w.hg jvd jeä neúka B  

jHdmD;sh Ndr.; yel.  

       (,l=Kq  02) 
 

 

C fldgi 
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mßÉfþoh 6 - iïNdú;dj yd iïNdú;dfõ fhÿï 

(C) 
(a) 

 
 
 
 
 
 
 
 
 
 

      E(X)  =   ∑ X×P 
               =  1.82 

(,l=Kq  03) 

(b) 
     X : uer;ka ;r.h ksu lsrSug .; jk ld,h ñks;a;= 
      µ=240  σ =40 

        𝑍 =
X  −  µ

σ 
                                    

 

𝑍 =
X  −  177

6.4
     

X=166,  𝑍 =
166  −  177

6.4
= −1.72     

 

X=185,  𝑍 =
185  −  177

6.4
= +1.25     

 
 0.4573                  0.3944  

  

     0.4332   

                  0.4573 0.5 

 

                

 

                                                                                               x     

   X                          166        177      185  

    Z         - 1.72         0       +1.25 

 
    Pr(166 < X < 185)  = 0.4573 + 0.3944 
                                  = 0.8517 or 85.17% 
 

iiïNdù f,i f;dard .;a msrsñ mqoa.,fhl=f.a Wi cm 166 la yd cm 185 la w;r ùfï 

iïNdù;djh 85.17% ls. 
(,l=Kq  03) 

x p xp 

-1 0.32 -0.32 

0 0.01 0.00 

1 0.02 0.02 

2 0.04 0.08 

3 0.40 1.20 

4 0.21 0.84 

  
1.82 
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mßÉfþoh 7 - o¾Yldxl iy mqfrdal:khka 

(D)  
 

NdKavh q1 q1 q0 q1 P1 q0p1 

x 100 15 70 1,500 1,050 

y 250 40 280 10,000 11,200 

Z 130 60 90 7,800 5,400 

       19,300 17,650 

                         

,eiamshf¾ m%udK o¾Ylh   =
∑ 𝑃0𝑞1

∑ 𝑃0𝑞0 
× 100%

 

                                                  =
19,300

17,650
 × 100% 

                  = 109% 

                            
(,l=Kq  04) 

(uq¿ ,l=Kq 20)  
 
 
 
 
 
 
 
 

C fldgfiys wjidkh 
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Notice:  

 
 
These answers compiled and issued by the Education and Training Division of AAT Sri Lanka 

constitute part and parcel of study material for AAT students.  

These should be understood as Suggested Answers to question set at AAT Examinations and should 

not be construed as the “Only” answers, or, for that matter even as “Model Answers”. The 

fundamental objective of this publication is to add completeness to its series of study texts, designs 

especially for the benefit of those students who are engaged in self-studies. These are intended to 

assist them with the exploration of the relevant subject matter and further enhance their understanding 

as well as stay relevant in the art of answering questions at examination level. 
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